Answers to Silly Puzzles to confound you
A Weighty Problem: There are 10 possible solutions. With {15,10} in the first crate, the second crate can have {13,8,4}, {13,11,1}, {11,8,4,2}, or {11,9,4,1}, with the remaining weights in the third crate in each case. There are also solutions with {11,10,4}, {13,8,4}, {13,10,2}, {13,10,2}, and {13,11,1} in the first crate. You can work out the weights in the remaining crates yourself.
Birthday: He was born on December 31st and spoke about it on January 1st. Can you work it out?
One More Square: See the figure for the solution.
